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Sample Paper – 2010

Class – X

Subject – Mathematics  
TIME: 3 hrs.








MM: 80
General Instructions: -

1. All questions are compulsory. 
2. The question paper consists of 30 questions divided into three sections A, B, C and D. Section A contains 10 questions of 1 marks each, Section B is of 5 questions of 2 marks each, Section C is of 10 questions of 3 marks each and Section D is of 5questions of 6 marks each.
3. All question in section A are to be answered in one word, one sentence or as per the exact requirement of the questions. 

Section-A
1. If graph of a polynomial intersects x-axis at (-7,0) then write the polynomial.
2. Write HCF of the smallest co-prime number and the smallest prime number.

3. If one root of a quadratic equation is 
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, what will be the other root?

4. Find the distance between two parallel tangents of a circle whose radius is 2.6cm.

5. State converse of basic proportionality theorem.

6. How many real solutions of the linear equation 2x+3y=5 are possible?

7. If 2sin
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- 1=0, find the value of y.

8. A card is drawn at random from a pack of 52 cards. Find the probability that the card drawn is neither a red card nor a queen.

9. Write the relationship between mean, mode and median.

10. AB & CD are two common tangents to circles which touch each other at C. If D lies on AB such that CD=4cm, what is the value of AB?

Section-B

11. PA and PB are tangents from P to the circle with centre O. At point M, a tangent is drawn cutting PA at K and PB at N. Prove that KN=AK+BN.
OR

Prove that the parallelogram circumscribing a circle is a rhombus.
12. From you pocket money you save Re.1 on day1, Rs.2 on day2, Rs.3 on day 3 and so on. How much money will you save in the month of Feb 2010?

13. If 
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then find the value of x.

14. A pair of die is tossed. Find the probability of getting 

(i)
prime number on first die and total of 9 on both dice 

(ii)
a total perfect cube.

15. If the point(a,b) is equidistant from the points (x+y, y-x) and (x-y, x+y), then prove that bx=ay.
Section-C

16. In a room, there are 36 chairs in Ist row, 33 chairs in IInd row, 30 chairs in IIIrd row and so on. There are 3 chairs in last row. Then find how many rows are there in the room. Also, find the total number of chairs in the 800m.
17. Construct a circle of radius 4.5 cm and draw tangents PQ and PR from an external point P in such a way 
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 Write steps of construction.

18. Check whether following system of linear equation have consistent or inconsistent solution:

x+2y=3, 6 x+12y=24, 

and show graphically also. Find the area between the two parallel lines representing the equations in the first quadrant.
19. Prove that:
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OR

Prove that 
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,using the identity 
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20. Prove that the angle between two tangents drawn from an external point to a circle is supplementary to the angle subtended by the line segments joining the points of contact at the centre.

OR
A circle is touching the side BC of a 
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at P and is touching AB and AC when produced at Q and R respectively. Prove that:

AQ=
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(perimeter of 
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21. 
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is a right triangle, right angled at A. Find the area of region included in circle only if AB=6cm, BC=10cm and O is the centre of the incircle of 
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                                                                Fig.2
22. The line segment joining the points A(2,1) and B(5,-8) is trisected at the points P & Q such that P is nearer to A. If P also lies on the line given by 2x-y+k=o, find the value of k.
23. Find the co-ordinates of the centre of the circle passing through the points (0,0), 

(-2,1) and (-3,2). Also find the radius.
24. Obtain all other zeroes of 
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, if two of its zeroes are 
[image: image14.wmf]3

5

and -
[image: image15.wmf]3

5

.

25. Show that one and only one out of n, n+2 and n+4 is divisible by 3.

SECTION D
26. A tent consists of a frustum of a cone, surmounted by a cone. If the diameters of the upper end lower circular ends of the frustum be 14 m and26 m respectively, the height of the frustum be 8 m and the slant height of the surmounted conical
Portion be 12 m, find the area of canvas required to make the tent. (Assume that the radii of the upper circular end of the frustum and the base for surmounted conical portion are equal).

OR

The height of a circular cylinder cone is trisected by two planes drawn parallel to the base. Show that the volume of the three portions starting from the top are in the ratio 1:7:19.
27. Two water taps together can fill a tank in 9
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 hrs. The tap of larger diameter takes 10 hrs less than the smaller one to fill the tank separately. Find the time in which each tap can separately fill the tank.

OR

Some students arranged a picnic. The budget for food was Rs 240. Because four students of the group failed to go, the cost of food to each student got increased by Rs 5. How many students went for the picnic?
28. Two pillars of equal height 12√3 m are on either side of a road which is 48 m wide. The angle of elevation of the tops of the pillars is complementary at a point on the road between the pillars. Find the position of the point between the pillars.
29. If weights(in kg) of 40 Boys of class X of a school are as follows:
	Weight(in kg)
	40-50
	50-60
	60-70
	70-80
	80-90
	Total

	No. of Boys
	3
	7
	20
	6
	4
	40


30. Prove that the ratio of the areas of two similar 
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’s is equal to the ratio of the squares of their corresponding sides. Use the above in the following:
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In fig.3, ABCD is a trapezium, O is the point of intersection of AC and BD, AB║CD and AB=2CD. If the area of 
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AOB=84cm2, find the area of 
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